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Topic:- Child Development & Pedagogy (CDP)

1) One of the symptoms of dyspraxia is: / feaifRma & ?I'&I'Uﬁ ik U %:
1. Problem in understanding spellings /At g o gE=n

2. Problem in doing mathematical calculations / TTforcfig T R H IHw

3. Problem in holding a pen and writing / & S dH Uh S 3R foran o g
4, Problem in the accent of a language / HTST & IR T gHWT

Correct Answer :-

« Problem in holding a pen and writing / Yoh hcTH W 3R fore & g=n

2) Material for later retrieval is stored in the . /| 9 B T!'Flﬁ Eo ﬁﬂ! Eepik:al -] Wﬁﬁ fopar sirar %I
1. Long term memory / &réimifoss &fa

2. Short term memory / eI Ffd

3. Rote memory / %oy i

4, Sensory memory / HaGr Fﬂﬁ'

Correct Answer :-

+ Long term memory / &&ehiioies €

3) Which of the following is a technique used to address stuttering?/ faF & & Fia-W v THAIF § ST 3TN gFHAA (TH-Th T
TA) B @H WA F Qv A I §2

1. Prolonged Speech / oIFsT HTVOT

2. Purposeful Speech / BE’?QIITJT ryor
3. Practical Speech / TR HIYOT
4. Delayed Speech / faeifera smsor
Correct Answer :-

« Prolonged Speech / o1& €T #HTYUT

4) The enrichment of environment and experience in the early years of life will enable to develop ./ ShasT & gRfAw aut & ardraor
3R areper A WS 1 fawm F & wanr gl

1. innate potentialities / STeHSITd &THAT

2. problems / TFTATT

3. heredity / HT@HTWT

4. intelligence /@

Correct Answer :-

« innate potentialities / STedHoITd &THAT

5) Achievement in school is most closely related to . /ﬁapﬁm #3yafewr _ @ ged w0 Agear ¥ g&afa g1
1. The attitude of parents / HTAT-TAAT & TAGR

2. The conduct of students / BT T TEROT



3. The interaction of peer group / T g FT FradT

4. The quality of teachers / fRI&TeT &I CIGER])

Correct Answer :-

« The quality of teachers / fI&Tel T CIGER])

6) Constructivism does NOT acknowledge the value of knowledge that is: / F#{oraE 7T & Aea #1 FTHFR T8 Far T e
1. Personal / 3afFde

2. Subjective / SATFARE

3. Universal/ GTdaiif@s

4. Individual / SafFdara

Correct Answer :-

« Universal/ A1a#ifHs

7) The fear of strangers the children develop, is because of . /Sﬁﬁﬁ'lﬁ FT T oA 7= [AeT WA %, - & HROT EFlT %I
1. Operant conditioning / ﬁmma\?r HTeiehefel (3T FHErerfam

2. Sign learning / Fehd 37T

3. Classical conditioning / feRUTATSST Wiefehelet (FerTflishel hererfaian)

4. Insight learning / 3idefSe 31feeTa

Correct Answer :-

+ Classical conditioning / RS Wiefeherel (ForTiliehel EEEIED)

8) The inherent abilities of the child should be while designing the curriculum. / UTSIHA BB FId AT T=F A dfifea amaanst
aifgel

1. Considered / €ATeT & AT
2. Discarded / T¥@hTer =T

3. Separated / 3ToleT &IAT

4. Ignored / sTSIR3TGTST HIT
Correct Answer :-

« Considered / €T # oA

9) According to Erikson, role confusion occurs if the is not established. / Uﬁ?ﬂﬂ'ﬂ?.ﬂﬂoﬂ'ﬂ, Ife Fﬂ'lﬁ?l’ﬂﬁm %Fﬂ ﬂ;ﬁ?ﬂ Foaa gar
gl

1. Intimacy / 3TcHIIT
2. Initiative / 9gel

3. Industry / afsreT

4. Identity / 9gdleT
Correct Answer :-

« Identity / UgdTeT

10) has developed a socio cultural approach to cognitive development. / F FaEeAs Qe & Qv ;rmm-aﬁ:gﬁa?
Tiewor R B #1

1. Jerome Bruner / SII T
2. Kolb / sleq
3. Jean Piaget / SfieT TOmer

4. Lev Vygotsky / foia argeiicehr



Correct Answer :-

« Lev Vygotsky / fora argancehr

11) Child development refers to: / Tl A e & FafAa &:

1. Quantitative changes only / hael ATATCHS gRade

2. Qualitative changes only / el oS gRadeT

3. Qualitative changes corresponding to quantitative changes/ [UTicHS IRad, AACAS IRadAT & HJET g 8l

4. Qualitative changes independent of quantitative changes/ J[0TcHE gRade, AEcAS IRader & T &1

Correct Answer :-
* Qualitative changes corresponding to quantitative changes/ J[0TlcHe IRad, AACAS GRadAT & HET g 8l

12) What is the most heavily associated characteristic of bipolar disorder among children? / Ieat & g arer Eﬁgﬁ PR (FEeR BEHER) I e
TN Rewar Fr §2

1. Being hyperactive. / 3ifaafsha gl

2. Being sad often. / 3T&F8Y 3¢9 gl

3. Extreme mood changes./ {g # Fcafed deana gl
4. Having exciting behavior./ JHATH SHAER &eAT|
Correct Answer :-

+ Extreme mood changes./ Hg # 3cafds deana gl

13) What type of theories acknowledge the contribution of both experience and genetics in development? / & &R & ﬁa}l‘iﬂ', e & T sk
AT Sl F A B FERS §?

1. Interactionist theories / 37cT:fohaTaTdr m
2. Nature theories / ‘;@ﬁ RG]

3. Deterministic theories / forafaarg @—c\'\?ﬂa
4. Nurture theories / GTeleI-GTIooOT ﬁaﬁﬂ?—l’

Correct Answer :-

« Interactionist theories / 37dT:fshamardy @a\ﬂ'a

14) What type of intelligence is involved in overall success in living according to Sternberg? / ¥eaiadl & 3I[AR, War-wea1 (fafder) & worer wwear # frw
YER $ gafterar mfde gl §?

1. Logical-mathematical intelligence / ATf&eh-aTOTchar geferam
2. Componential intelligence / ¥t gaﬁw

3. General intelligence / T e T

4. Practical intelligence / SATagTRe e Q=T

Correct Answer :-

+ Practical intelligence / =TTagTRe g fAHT

15) What term refers to the biological development of an individual? / fHt =afed & s REw & AT F1 asg FTAA A svan &2
1. Learning / 3f&RTA

2. Maturity / gR9eFaar

3. Maturation / 9Rgeraar

4. Aging / 3Tggefr

Correct Answer :-

o Maturation / IRYeFaAT



16) What term denotes the negative and positive evaluations an individual makes about the self? / frafl saf@a SanrT TEE F O A P aw
THRIAT 3N THRIeAT Aediwe F Fa reg F AwRa fFFa?

1. Self-esteem / JTcH-HFHIT
2. Self-efficacy / TT-THTIGRIRAT
3. Self-centeredness / 3TTcH-Shg T

4, Self involvement / T-TEHTTIIT

Correct Answer :-
o Self-esteem / HTcH-HFHTT

17) Which psychologist carried out an experiment of classical conditioning involving a little boy called Albert? / fFT FAIANNF I Heae ATHE TH BIE
Wﬁ%ﬂﬁ?mﬁg@?ﬂﬁﬁﬂﬂ%ﬁﬂﬂ(ﬁlﬁﬁﬁﬂﬁmﬂ@mﬁﬂﬂ

1. B.F. Skinner / &Y. T%. R&R

2. E.L. Thorndike / . Uel. ¥isBH
3. Ivan Pavlov / 3dTs draelid

4, John Watson / Sifel dfegsT
Correct Answer :-

« John Watson / SiieT afedeT

18) Which part of the sensory register captures visual aspects of the environment? / ¥4I TFeT F1 FiF-0T1 REaT TROr & w7 Tgast # Fow
T 2

1. Iconic memory / IfafSsd Fﬂ!ﬁ
2. Echoic memory / 3[sT Fﬂbﬁf
3. Visuospatial sketchpad / &7 Tl Thads

4, Visual store / TT TIE

Correct Answer :-

+ Iconic memory / WidfSad A

19) Which of the following is a reason for a student seeking counselling/ If& T &TF WAL o T §, df 39 FEAfaf@d & & Far FROT g ar 82
1. Career indecisions/ URMATd 3TTHST

2. Sensible/ HHSIGR

3. Strong/ HE’G!\T-TT

4. Superior/ ST

Correct Answer :-

« Career indecisions/ URIATd 3T THTH

20) Which of the following is not a technique to aid the storage of information in long term memory? / AFafaf@a & @ sia-f ddwfaw Fiﬁ J
AT & HSROT # WEraT FX Y ddedrF 8T 87

1. Elaboration / fa&ar

2. Rehearsal / ﬁ%ﬁﬁ

3. Chunking / Tfear

4. Mnemonics / @{ﬁlﬁ?ﬂ:{

Correct Answer :-
« Chunking / @fear

21) Which of the following statement would be true in case of an extrovert person?/ ilﬁ?i‘!ﬂ =T F AHe § Ffaf@d & ¥ Fia-ar Fa9 78
gem?



1. Social situations drain their energy./ AT TfkfRUfal IT@t FHuif Bt IoT R <l
2. They gain energy from social situations./ & T EAfadt ¥ FaT ured & 1
3. They gain energy from within. / 3Tt 376X & Fail ured gl gl

4. They prefer working alone./ & 3/hel HTH T TG A &1

Correct Answer :-
« They gain energy from social situations./ § TTATTSTS RAfAAT & FaT wred i gl
22) Which of the following statements is true regarding algorithms?/ TeaNRIA & way ¥ fArafaf@a & F Fia-ar sy 7

1. An algorithm is a set of steps to follow intended to solve a specific problem. / TeaNRYH Teh TIfAST TATAT FI gol F & 33\??5 a e E0T A &
T =Rett & & w9 ¢

2. An algorithm is a rule of thumb that gives some guidance on how to do a task but does not guarantee a solution consistently./ TeINR I Teh 37T S:Iaﬁrc\'fl
e & S ol F1 A ae & aR A Fo ARl aar § Afe R waene i e 7@ &ar g

3. An algorithm'’s success is independent of the sequence of steps followed during its execution./ T TENRYA &) hadl 396 Aered & IR I3TT U
TRON & 3FIHH J WA g

4. An algorithm is a rule of thumb that gives some guidance on how to do a task & guarantees a solution every time./ TETRYT T THARIG Fom § ST it o &t
PR & o o Anfexi SaT 8 3R R IR THIMH $Y MRS a1 7

Correct Answer :-

- An algorithm is a set of steps to follow intended to solve a specific problem. / TeaNRYHA Teh TS TFETAT FT g IA & 33?\'?2’1 a 3FeTEIOT FT H
T =Rt & vF W B

23) Who used the term Deviation Intelligence Quotient? / e geftr sucrstrar (3frversy efasie Fdie) wse F1 vk fraer fmam?
1. Alfred Binet / 3738 foaie

2. Lewis Terman / Jg8 TH

3. David Wechsler / 3fa8 a&ger

4. William Stern / fafoesr &&=t

Correct Answer :-

o David Wechsler / 3fa8 a&aerR
24) How does academic curricula subtly promote gender discrimination? / NPIETAF qrodshH, AT sigema & F qerar &dr &7

1. Very little mention of achievements by females compared to achievements by male. /W $r Jefell # Afgemsit fr syaferat Elg?f hH
3ol AT

2. Unethical grading amongst males and female students. /f_ﬁﬁﬁ IR afger ot & dT 3=AfaE afS)
3. Focusing mathematics and science courses only to male students / Fael ey BEl F for afeg ik /e qredshHA WX Figd T

4. Unequal funding towards male education compared to female education / \fger fRew Hr Jefell ) Y e & ufa 3rgeer [ffeor |

Correct Answer :-

« Very little mention of achievements by females compared to achievements by male./w Hr Jefell # Afgamst fr syaferat Elg?f hH
ool AT

25) Children having phonological core deficits suffer from ./ BHIdoed BIR S ard g5 . J dﬂ%?r sﬁ %I
1. Dyslexia / Rrafeaar

2. Dyscalculia / %ﬁmﬁmﬁm

3. Dystopia / f3Eeifaar

4. Dysnomia / fS&afa=T

Correct Answer :-

« Dyslexia / BFaifeaar



A father expects all his children, aged 4, 6 and 12 to learn the same subjects together. This would be in violation of which principle of development? /Wﬁ?ﬂ

3T 4, 6 3N 12 T6 B 317 F Tt Tl @ Iwfiq a1 € 5 @ v wry a0 vy WG| 7 faer & fvw Rigia &1 @s g
1. There are individual rates of development Accaccl W—Wﬁ (m @?ﬁ%l

2. Development proceeds from simple to complex / T WRear 9 Sfeaar &1 SR S dedl gl

3. Development depends on maturation and learning / fo@m, aRkgear IR fr R R At gl

4. Development is a continuous process / faerg Tdh Iqdd Tfgear %I

Correct Answer :-

e Development depends on maturation and learning / fawr, ufvgerar 3R ffr W AR xar %I

27) Intelligence is something that grows and develops through a series of stages. There are both qualitative and quantitative differences between the
thinking of young children versus older children. Who put forward this theory? / geftrerar (s2fasia) va W6t wfkan ¢ ot 7§ srawamsit &1 4@en &
A § ot AR RFRT @t T o Tl a9 93 Tedl B W9 F &= qunens AR Aens Qe IR €1 39 Rigwia @ free wfawifea R

1. B.F Skinner / &, T%. &k
2. Howard Gardner / gTds Msa<
3. Jean Piaget / SfieT f=mer

4. John Dewey / SiieT 5%

Correct Answer :-

o Jean Piaget / ST Rmey

28) The infant is able to move about, especially because of the growth of WaActiL kK| * fap™ & FRU fQI'S{I Tforefie 819 o waw
H

1. Motor areas only / shdel HIEI &1 (FreX TR

2. Neither sensory nor motor areas / =7 Y TAaT 3R o €1 fohaTca &1
3. Sensory areas only / del TAGT & (T TRM)

4. Sensory and motor areas / TaeT 3R ohaTcA &1 1T

Correct Answer :-

» Sensory and motor areas /Q:iﬁ'cfl' 3R fraTcAs S T

29) can cause deficiency diseases that adversely affect the growth and development of children /

? o T= Pt 3P SR R W wfaga guma st 21
1. Mental Illness / ATATHS STATRT

2. Anemia/ TFdTeTdT

3. Malnutrition/ EECﬁ'q‘UT

4. Clinical Depression/ eIl 3adre
Correct Answer :-

. Malnutrition/i?fﬂ'q'UT

30) attribution assigns the cause of behavior to the internal characteristics of a person. / WUT (EQW}ZFI) it safaa
FI s fadivars & agR &1 SR Sar 81

1. Dispositional / %elra (fSEaiforereter)
2. Situational / Ffas=a

3. Environmental / 9aiaRor

4. Cultural / GrEhics

Correct Answer :-

- Dispositional / telra (f3Eaiforereten)

Topic:- General English(L1GE)



1) Read the following passage carefully and answer the questions that follow:

An opinion is an expression of a person’s feelings or thoughts based on emotional history and values. But what if the
truth is that people do not really believe every position they express in public? Let's remember that someone who is
strongly committed to an opinion and unwilling to consider other options is very likely to impose her view on a second
party (you?). And you might be uncertain about which route to walk. In other words a flexible person very often ends
up losing to an inflexible friend. Most of the conflicts in life arise from the belief that one is always right, and this
strong belief is rooted in opinions which may not always be true. We incorrectly believe that we are correct. The need
to feel superior to everybody else in one’s circle is a weakness many people have but do not realise at all.

Who is an inflexible person?

1. A person who is unwilling to change or compromise
2. A person who is willing to change

3. A person who is very ambitious

4. A person who is very caring

Correct Answer :-
« A person who is unwilling to change or compromise

2) Read the following passage carefully and answer the questions that follow:

An opinion is an expression of a person’s feelings or thoughts based on emotional history and values. But what if the
truth is that people do not really believe every position they express in public? Let’'s remember that someone who is
strongly committed to an opinion and unwilling to consider other options is very likely to impose her view on a second
party (you?). And you might be uncertain about which route to walk. In other words a flexible person very often ends
up losing to an inflexible friend. Most of the conflicts in life arise from the belief that one is always right, and this
strong belief is rooted in opinions which may not always be true. We incorrectly believe that we are correct. The need
to feel superior to everybody else in one’s circle is a weakness many people have but do not realise at all.

According to the writer, what is it that many people do not realize?
1. The feeling of being weak

2. The feeling of being inferior to everyone else

3. The feeling of domination by others

4. The feeling of superiority to everyone else

Correct Answer :-

« The feeling of superiority to everyone else

3) Read the following passage carefully and answer the question that follows:

An opinion is an expression of a person’s feelings or thoughts based on emotional history and values. But what if the
truth is that people do not really believe every position they express in public? Let's remember that someone who is
strongly committed to an opinion and unwilling to consider other options is very likely to impose her view on a second
party (you?). And you might be uncertain about which route to walk. In other words a flexible person very often ends
up losing to an inflexible friend. Most of the conflicts in life arise from the belief that one is always right, and this
strong belief is rooted in opinions which may not always be true. We incorrectly believe that we are correct. The need
to feel superior to everybody else in one’s circle is a weakness many people have but do not realise at all.

What is the passage about?
1. Correct opinion
2. An opinion is an expression of oneself

3. Formation of opinion



4. How one should take opinion

Correct Answer :-

« An opinion is an expression of oneself

4) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual learning experiences. Education 1.0 was the
traditional method of students going to a Gurukul in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people who could be trained. There, student read books,
sat down and listened to the teachers. They had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear science [combining it] with biotechnology, with dance,
with music or with fundamental physics or something like that. The mix and match is available and can be done offline or online. A student can sit
at home do a course online and get a degree. So, in Education 4.0 students can design their own course, learn offline or online and they can also
make sure that they can learn at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

What type of system of education provides for individual learning experiences?
1. Education 4.0
2. Education 2.0
3. Education 3.0

4. Education 1.0

Correct Answer :-

« Education 4.0

5) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual learning experiences. Education 1.0 was the
traditional method of students going to a Gurukul in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people who could be trained. There, student read books,
sat down and listened to the teachers. They had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear science [combining it] with biotechnology, with dance,
with music or with fundamental physics or something like that. The mix and match is available and can be done offline or online. A student can sit
at home do a course online and get a degree. So, in Education 4.0 students can design their own course, learn offline or online and they can also
make sure that they can learn at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

Education 4.0 allows students to have a system to study.
1. compromising

2. inconvenient

3. flexible

4. rigid

Correct Answer :-

« flexible

6) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual learning experiences. Education 1.0 was the
traditional method of students going to a Gurukul in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people who could be trained. There, student read books,
sat down and listened to the teachers. They had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear science [combining it] with biotechnology, with dance,
with music or with fundamental physics or something like that. The mix and match is available and can be done offline or online. A student can sit
at home do a course online and get a degree. So, in Education 4.0 students can design their own course, learn offline or online and they can also
make sure that they can learn at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

What kind of traditional method of education existed in ancient India?

1. Students studied to get a certificate and earn a livelihood.



2. Students went to a Gurukul.
3. Students went to a university.

4. Students sat down and listened to the teachers.

Correct Answer :-
« Students went to a Gurukul.

7) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual learning experiences. Education 1.0 was the
traditional method of students going to a Gurukul in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people who could be trained. There, student read books,
sat down and listened to the teachers. They had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear science [combining it] with biotechnology, with dance,
with music or with fundamental physics or something like that. The mix and match is available and can be done offline or online. A student can sit
at home do a course online and get a degree. So, in Education 4.0 students can design their own course, learn offline or online and they can also
make sure that they can learn at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

Which of the following was the traditional method of education system?
1. Education 4.0

2. Education 2.0

3. Education 3.0

4, Education 1.0

Correct Answer :-

« Education 1.0

8) Which of the following options best combines the following sentences?

He is always absent for coaching classes. I just fail to understand the reason for his absence.

1. He is always absent for coaching classes but | just fail to understand the reason for his absence.
2. He is always absent for coaching classes as | just fail to understand the reason for his absence.
3. He is always absent for coaching classes so | just fail to understand the reason for his absence.

4. He is always absent for coaching classes, and | just fail to understand the reason for his absence.

Correct Answer :-

« He is always absent for coaching classes, and | just fail to understand the reason for his absence.

9) Rewrite the following changing the active sentence to passive.

The school has announced the result.

1. The result have being announced by the school.
2. The result has announced by the school.

3. The result has being announced by the school.
4. The result has been announced by the school.
Correct Answer :-

e The result has been announced by the school.

10) Read the sentence carefully and choose the option that has an error in it:

The interviewer was very interesting in a particular candidate.
1. in a particular candidate.

2. interesting



3. The interviewer
4. was very

Correct Answer :-

 interesting

11) Choose the right tag:

)

You seldom write to me,
1. have you

2. won't you

3.do you

4, don't you

Correct Answer :-

12) Choose the option that substitutes the given phrase appropriately.
A statement which is accepted as true without proof

1. Alimony

2. Aquatic

3. Axiom

4. Anthology

Correct Answer :-

« Axiom

13) Choose the appropriate tense to fill in the blank in the given sentence:

I a course in visual communication right now. I’m planning to make it my career.
1. did

2. has been doing

3. had been doing

4. have been doing

Correct Answer :-

« have been doing

14) Read the following passage carefully and answer the questions that follow:

An opinion is an expression of a person’s feelings or thoughts based on emotional history and values. But what if the truth is that people do
not really believe every position they express in public? Let’s remember that someone who is strongly committed to an opinion and unwilling
to consider other options is very likely to impose her view on a second party (you?). And you might be uncertain about which route to walk.
In other words a flexible person very often ends up losing to an inflexible friend. Most of the conflicts in life arise from the belief that one is
always right, and this strong belief is rooted in opinions which may not always be true. We incorrectly believe that we are correct. The need
to feel superior to everybody else in one’s circle is a weakness many people have but do not realise at all.

‘What kind of people imposes their views on others?
1. Those willing to consider other options
2. Those willing to listen

3. Those unwilling to listen



4. Those unwilling to consider other options

Correct Answer :-

« Those unwilling to consider other options

15) Fill in the blank with the correct option in the given sentence:
People have become so addic-- to technological advancements that they have become lazy.
1. --ient

2. --tion

3. --tive

4. -- ingly

Correct Answer :-

o --tive

16) Fill in the blank with the correct option in the given sentence:
When we help others, we will never be -- satisfied in our lives.

1. dis--

2. re--

3.in--

4. mis--

Correct Answer :-

o dis--

17) Choose appropriate articles for the given sentence:

apple day keeps doctor away.
1. Not required... an... a
2. An...a... the
3. An... the... no article required
4. The...a...an
Correct Answer :-
e An..a..the
18) Choose the appropriate prepositions for the given sentence:

We should arrive their place time lunch.

1. by...in... at
2. for...on...in
3.in...on... by
4. at...in... for

Correct Answer :-

e at..in... for

19) Choose the most suitable pronouns for the given sentence:

got bruised while trying to climb the tree.



1.1...you

2. | ... myself

3.1t ... him

4. We ... him

Correct Answer :-

e |...myself

20) Choose an appropriate article for the given sentence:
We were stopped by police last night.

1. an

2. no article

3. the

4.a

Correct Answer :-

« the

21) Identify the most appropriate indirect speech statement for the given sentence :
“l am not here to repeat myself,” said the teacher.

1. The teacher said that she wasn’t there to repeat herself.

2. The teacher said she’s not here to repeat herself.

3. The teacher informed that she was there to repeat herself.

4. The teacher told that she is not here to repeat herself.

Correct Answer :-

« The teacher said that she wasn’t there to repeat herself.

22) Choose the appropriate antonym for the highlighted word in the given sentence.
My cousin speaks with a refined, educated accent.

1. urbane

2. sophisticated

3. polished

4. boorish

Correct Answer :-

« boorish

23) Choose the appropriate synonym for the highlighted word in the given sentence.
American tractors even have adjustable steering wheels.

1. modifiable

2. temporary

3. detachable

4. rigid

Correct Answer :-

« modifiable

24) Choose the appropriate conjunction for the given sentence.



I am stressed, I listen to music.
1. Whereas
2. Whenever
3. Because
4, Since
Correct Answer :-
o Whenever

25) Choose the appropriate option that rewrites the given sentence in its active voice.
This year, the annual function was celebrated with great pomp and show by them.

1. They were celebrating the annual function this year with great pomp and show.

2. They celebrated the annual function this year with great pomp and show.

3. We celebrated the annual function this year with great pomp and show.

4. We celebrate the annual function with great pomp and show this year.

Correct Answer :-
« They celebrated the annual function this year with great pomp and show.

26) Choose the appropriate tense to fill in the blank in the given sentence:
The recent budget a reduction in tax rates.

1. would be proposing

2. has proposed

3. will have proposed

4, proposing

Correct Answer :-

« has proposed

27) Choose an appropriate determiner for the given sentence:

There are only students present in the class during the weekend.
1. less

2. many

3. little

4. afew

Correct Answer :-

o afew

28) Choose an appropriate modal for the given sentence:

A civil servant uphold the principles of the constitution.
1. ought

2. could

3.can

4. must

Correct Answer :-

¢ must



29) Choose the option that best explains the highlighted expression:
Now, it makes sense to me why you moved out of that house.

1. I understand

2.l am puzzled

3. | am astonished

4. | have become sensible

Correct Answer :-

« lunderstand

30) Choose the right tag:

They are going back home fromschool, __ ?
1. wouldn’t they
2. won't they
3. aren’t they
4. will they
Correct Answer :-

« aren’t they
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o el 9 3T Ug W I

29) $TST U IYHIOT & T A AT A A § -

1. 390ed |afr

2. Hhad STHATAT & e et 7

3. hdel AT TEIT Td FERI 1 Tgarel el &

4. e d@=r 7

Correct Answer :-

o 3WIET Folr

30) e ¥ o B GiFgar 3@ ST ¥ -
1. Pt &1 g & g Ao &

2. X AI H

3. T SoF H

4. ool 3R ae #

Correct Answer :-

31) Fa # Yo (O, WRfAF FHEFH FA1, TSt 1 7+ Fe1, AfS-RfAT FF Fwen wfy Fa Rgyia § siadta ama §2
1. oramefrerar =1 Reeid

2. JTHROT T TheHid

3. fesRoT v s @ fAguia

4. JeIeeT T AU

Correct Answer :-

32) tgaie 19 # 39 R g ® e & F FlF-ar d9hua 39Rer & e s §2
Lqsd

2. B e

3. 35

4, 3TN

Correct Answer :-



33) TF siFeY qENT g siFe &1 Al sitveRe o7 # Fla-@ w@awa &1 g3er R sreen?
1. FAgreA/HgeT

2. fAEeyfaw

3. %

4 3

Correct Answer :-

. FQEI/FRIEAT

34) 9w R=feT Fla B dorar 32

1. T FRTT & g@ HETT

2. U FTOT § FAMER T 7 T

3. GATGR 99 & HUGH aRT HATerd & fOdRY
4. T HAUSRY ganT qax ST

Correct Answer :-

o TP FETET A FARR 57 A JhREmT

35) fareT # @ FlF-W FeE ofisw grgsr v 7@t §2
1. 9TelY

2. JTFAET 3T 9147

3.a13q

4. $EaTTE

Correct Answer :-

36) fare & A Fla-aT AEF FUAR THE g@RT @A 7E §72
2. YaEaTta=r
3. TEhe e
4, 9gelr el

Correct Answer :-

37) T & @ Fi-A1 e A TFA gErr /@ & &2
1. ORI & o6

2. FIUTH

3. 3 31

4, 391G T Th T

Correct Answer :-

38) foresT ¥ & araeT Flera f A & ¥ -
1. gotATeT geufa

2. €qedTcHS gedid



3. 378 Sy fafer
4. faggrens ggufa

Correct Answer :-

39) A # & w7 € e aREet R s & i A 82
1. 3raelr

2. ghamofr

3. g

4. §T T

Correct Answer :-

40) 7 # & 59 [WAHR F SHEEE F IUR FTaHT A T8 B s @2
1. I Fardr TRrem

2. gRaRT s=a=

3. IR TG

4, Hgredr gt

Correct Answer :-

. gRART TTTT

4) = & & frw s & 7E7 99 RargF §72
1. o6 & TSEw

2. Ygell Tl

3. IS

4. 38 3

Correct Answer :-

42) fae & & r0 Ofoegea Feaumr &1 R adt A S §?
1. ferr

2. |

3. HEA3TeS

4. 3TeTH

Correct Answer :-

43) Fereht gaem s A FfFERFT F=1 P W w2
1§ & F A

2. had AfEs

3. Faer faf@a

4. fofaa iR Aifgs o=t

Correct Answer :-

« Fae Af@H



44) e & ¥ Truer Rramelorar & fquia w aa R @ -
1. 390 |al

2. el f3dr

3. adl Hiee

4. Had AEEN

Correct Answer :-

o 3T Tl

45) TSl F JIA Faeh FREAEA FT T T IHR T FA FT TIH Fgea § -
1. Aegisal fafer

2. e fafer

3. 39aRTcA® fafr

4. 3TelgeTicAs fafer

Correct Answer :-

« STURICH® fafer

46) Tl & T M@ F vF sugFT o @t -
1. fagzme

2. qTaRoT

3. AT

4. 9@

Correct Answer :-

47) U= 9Y &) &I, T FT HYF § -
1.TF & ¥ ar a9l

2. 9F] Th W ART Hle arel 3|

3. fRdt Y 33 & 3fea @ Ad e

4. 90 drehd @ Seell g

Correct Answer :-
o TH FE Y G AT
48) “Riar Ft s@E F q@E SAE F:7 - fFad gfdgy 9fFd ¥
1. FHeraerH
2. AfaA
3. gerller

4. 37907

Correct Answer :-

49) faafia w7 § el omer A AR T FAT TS I 82
1. 2rE

2. eafey

3.3

4. {IST T IAATET T



Correct Answer :-

o AT T giAATEr dTEer

50) FgR gAT & Feq W FFE i T RAARYRT FT T8I AT ST 872
1. %9 ¥ F eigarg &

2. idiarg & Jifgamarg @

3. dley & & g@arg &

4. Ored g & Hifaerarg

Correct Answer :-

51) ¥ RFeq aar-

uE THHR F qFT IR Wa e frwi & sforard a7 1
L3y

2. Foue

3 3

4. AT

Correct Answer :-

o 3

52) & fFeq Faw -

oeg qqY o Fgarar gl
L. e

2. fsyr

3. 9T

4, gt

Correct Answer :-

53) we RAFeq Farsd -

et wfterer, wRfeas R o aRfeas ygfer o R = e Fgarar gl
1. STaTcHAS foeer

2. foaRTeAs faser

3. gt faey

4, Tifgfcaesr a1 3Telrasicas faeer

Correct Answer :-

. OIRfcas a1 AFEATcHS e

54) fArafaf@a dfFaal & Fia-ar sesr 87
¥ guen wHEG 7€, 9wE RY FE |

¥ AGIR T FAFIC AR Feg W )
1. YEHT FEfel 3ol

2. 3TITH 3TEhR

3. JHAF 3HeldR

4, T9F PR



Correct Answer :-

55) wifeca &1 w1 Brelt Gor A iifos fartwamadt &1 qorne FReT AL ¥l 3w FE MO-AG 3G GFW A F qgeen oft 7 T AT FFA
@ 7w A AR 3w AwE AR gEe & QU sgAEt g@Er @1 99 Rl aede @aqp F @R or S € a@ ase 7 diear @y # ardrasor
aqTeT g Srar ¥ 3R AT werar § fF 39 AU 1 GHIS gae Y HT S @7 ¢ at 39 o gay F wiiRey € auw F F1F Fa1 &1 g€ 39 U
I gfad g @ quet Y YOI I 1 odT Wifeed FT ot A e gt w1 gar A€ dam

39 IR=dT A dea A RE 7T ma F71 3w PR
‘Hifged w3 A RO ygfr #1 9a7 FE dar ¥ w4 A 32
1. OIgcT AT T eI =Tgl oidrl

2. FIfgcd AT &1 AR 8 g

3. aifeed &1 wgfaat e SR @t e

4. Tt FfST TAT &F 39 & Bl

Correct Answer :-

. Wfted AT #1 R g ¥

56) wifeca &1 w1 el Gor A siifors Frrwamadt 1 qoremE Faw AL ¥l IHHET FE MO-AS 3G AFW AT F qgeren ot T 1 AT F A
@ 7w A AR At AeE AR gEer & QT sTAet g @1 99 R aede aqg 7 BRen o o € a9 wsg 7 dear Ay # ardrasor
e @) orar § 3R YT aerar ¥ R 39 3 1 WA gae Y R ST @1 ¥ Y 39 Fied AT F eReT & aQuF w1 F1F Far ¢ 9 39 U
F ofaed @ @ a= RO a1 §1 wowr wiieew wH st AT R gt # ogar @ dem

3TFd IRedT A T A RT v weT #1 seaw PR
wifeer frelt ozt ofaa @ ¥ F@ T 2

1. TSE Y UL ST

2.8 &1 Hifas TIATATHT @7 O ek

3. 9ATS & fow 3uel sefet

4. QT ST HT FTATRYT fAAOT

Correct Answer :-

o AN & fIT 3YIRT S0

57) Wifited &1 1 et qor 1 sitforss Rrdwanst 1 qorener e adt ¥l 3EH FE DAY 39 A A F oageen o 7 21w w1 oFE
@ #wopsr A AR AAF A ik wAe & QT st qaen § 99 Bl Amde @ A B o adt @ aw asg & flaar @ F aramaor
e @) Srar § 3R AT werar ¥ R 39 A FT WA gaa A W AT T § A 39 oA AT F e @ radud F1 F Far ¢ € 39 U
) ufyd @ @ Tt OO v ¥ wew wifeew w3 st wea R gl # gar S A

3wdad IRede A T A RT v weF F1 seaw PP
W& aegier #1 3R ofdw w8 wwar 82

1. OrfgeT fr TSg Far

2. wifger 3R sifos fAevand

3. |ifged & ygfarar

4, wifgea 3R ARER=ar

Correct Answer :-

. AfeeT 3R AFI=ET

58) Wifted 1 F et qor A aitferss rwansit &1 aorene F<en @€t ¥1 3EH FF MDY 30w AT A F ageen N 7@ ¥ W w71 FE
@ #opsr w3k AfaE A sk waer & v sl g ¥ 99 Bl Ay @ A B o St € aw asg & flaar @ ow e
ST g SATaT § 3R AT et § R 3W 39 #1 WA 9dd Y AR AT @I § A 39 FeT AT # WfRey @ HauF FT F1F FAT &1 q€) 37 USe
F ufad g § e T IO & §| Wewn wifeew wN oft wea R w1 gar A dam

39 aRede A TeaT A RE vy #1 3o AW
TG AT F FTER WieeT F FE F4T §?

1. il TARISAT3i T oMM AT

2. HfSA THI A TS HT AT AT



3. HlS @l 3R A Sellel
4, A-AY 39S ST

Correct Answer :-

59) wifitca &1 1 el Gor A sitfor Frdtwamadt 1 qoreer e AL ¥1 3w FE AW 3G AFW A F qgeen ot 7 T AT FFA
@ 7w A AR At AwE AR FEe & R sTAet gE@Er @1 99 Rl aede @aqp F BRen or S € a@ ase 7 diear @y # ararasor
aqTeT g Srar ¥ 3R AT w9t § fF 39 AU T GHIS gdd Y HT S @7 ¢ af 39 Fioa gay F wiiRey € auw F F1F Fa1 §1 g6 39 U
F ofad @ @ a== A o AT §1 wowr wiieer w st AT R st 1 ogar @ dam

394 TRede A TeaT A RE v wewr 1 3o AW

T TG ¥ AR B e F Qe FfRw waw Fla-ar dar 7
1. 519 ifged #ifas faAasit &1 o R &

2. 519 W 3ULY &t @I B

3. 519 AT WReT N A& Tear Bl

4. 919 FATS It T 3N AT B

Correct Answer :-

o S FAS g H AR w1

60) fw frfea dfmal & $19 w1 5= 22
AT HaT d WIE Y, dfg SR S WIS |
frea wg 9 faua fay ,sawr vea faams 1
1. Bl oo

2. el &g

3. 361 B2

4. 9R3T B

Correct Answer :-

. AR T_



